C18_
C20_

id:19 level: 1
21: COC1 C3C4 C5h
C7C8C9C10C11C13
C14 C15C16 C18 C19 C20
C21 C22 C23 C24

188: CO = C3(C0 C3) CO_= C4(C0 C4) CO_= C5(C0 C5) CO_= C7(C0 C7) CO_= C8(CO C8)
CO = C9(COC9)CO = Cl0(COC10)CO = C11(COC1I)CO = C13(COC13)CO = C14(COC14)CO = C15(CO C15)
CO = C16(C0 C16)CO = C18(CO C18)CO = C19(CO C19) CO = C20(C0O C20) CO = C21(C0O C21 ) CO = C22(CO C22 )
0 = C23(C0C23)C0 = C24(C0C24)C1 = C3(C1C3)C1 = C4(C1C4)C1l =C5(CLC5)Cl = C7(C1C7)
Cl = C8(C1C8)Cl = C9(C1C9)Cl = Cl0(C1Cl0)Cl = CI1(C1C11)Cl = CI3(C1C13)Cl = Cl4(ClCl4)
Cl = CI5(C1C15)Cl = C16(C1 C16)C1l = C18(C1 C18)Cl = C20(C1 C20)Cl = C22(C1 C22) c1_=_023( C1C23)
Cl = C24(C1C24)C3 = C4(C3C4)C3 = C5(C3C5)C3 = C7(C3C7)C3 = C8(C3C8)C3 = CI(C3CI)
C3 = C11(C3C11)C3 = C13(C3C13)C3 = C14(C3C14)C3 = C15(C3 C15)C3 = C16(C3C16)C3 = C18(C3C18)
C3 = C19(C3 C19)C3 = C20(C3 C20)C3 = C21(C3 C21)C3 = C22(C3C22)C3 = C23(C3C23)C3 = C24(C3 C24)
4 = C5(C4C5)C4a = C7(CaC7)C4 =C8(CA4C8)C4 =CI(CACI)C4A = CIO(CACL0)C4A = CI3(C4AC13)
C4 = C14(CACl4)C4 = CI5(C4C15)C4 = C16(CAC16)C4a = C18(C4'C18)C4 = C19(C4C19)Ca = C21(C4 C21)
4"= C22(C4C22)C4 = C23(C4C23)C4a = C24(C4C24)C5 = C8(C5C8)C5 = CI(C5C9)C5 = CI0(C5C10)
C5 = CI3(C5C13)C5 = CI4(C5C14)C5 = CI5(C5C15)C5 = CI6(C5C16)C5 = C18(C5 C18)C5 = C19(C5 C19)
5 = C20(C5 C20) C5 = C22(C5C22)C5 = C23(C5C23)C7 = C8(C7C8)C7 =C9(C7C9)C7 = CI0O(C7 C10)
C7 = CI1(C7Cl11)C7 = CI3(C7C13)C7 = CI4(C7C14)C7 = CI8(C7 C18)C7 = C19(C7 C19)C7 = C20(C7 C20)
C7 = C21(C7C21)C7 = C22(C7C22)C7 = C23(C7C23)C7 = C24(C7C24)C8 = C9(C8C9)C8 = C10(C8 C10)
Cc8 = C11(C8C11)C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8 C16)C8 = C18(C8 C18)
C8 = C20(C8 C20)C8 = C21(C8C21)C8 = C22(C8 C22)C8 = C23(C8 C23)C8 = C24(C8C24)C9 = C10(C9 C10)
C9 = C11(C9C11)C9 = C13(C9C13)C9 = C14(CIC14)C9 = C15(C9C15)C9 = C16(C9 C16)C9 = C18(C9 C18)
C9 = C19(C9 C19)C9 = C20(C9 C20)C9 = C21(C9 C21 ) C9 = C22(C9 C22 ) C9 = C23(C9 C23 ) CI = C24( C9 C24 )
C11(C1l0C11)Cl0 = C13(C10C13)C10 = C14(C10C14)C10 = C15(C10 C15)C10 = C16(C10C16)C10 = C18(C10C18)
C19(C10 C19) C10 = C20( C10 C20)C10 = C21(C10 C21)C10 = C23(C10 C23)C10 = C24(C10C24)Cl1 =C14(Cl1l Cl4)
C15(C11C15)Cl1l = C16(C11Cl6)Cl1l = C18(C11C18)Cl1 = C21(C11C21)Cl1 = C22(C11C22)Cl1 = C23(C11C23)
C24(C11 C24 ) C13 = C14(C13C14)C13 = C15(C13 C15)C13 = C16(C13 C16)C1l3 = C18(C13 C18)C13 = C19(C13 C19)
"C20(C13 C20) C13 = C21(C13C21)C13 = C22(C13C22)Cl13 = C23(C13 C23)C13 = C24(C13C24)Cl4a = C15(C14 C15)
"C16(C14 C16)C14 = C18(C14 C18)Cl4 = C19(C14 C19) Cl4 = C20(C14 C20)C14 = C21(C14 C21)Cl4a = C22(C14 C22)
C23(C14 C23) Cl4 = C24(C14 C24)C15 = C16(C15C16)C15 = C18(C15C18)Cl5 = C19(C15C19)C15 = C21(C15C21)
"C22(C15C22 ) C15 = C23(C15C23)C15 = C24(C15C24)Cl6 = C18(C16 C18)C16 = C19(Cl6 C19)C16 = C21(C16 C21)
"C23(C16 C23)C16 = C24(C16 C24)C18 = C19(C18 C19)C18 = C20(C18 C20)C18 = C21(C18C21)C18 = C22(C18 C22)
"C23(C18C23)C18 = C24(C18C24)C19 = C20(C19 C20) C19 = C21(C19 C21)C19 = C22(C19C22)C19 = C23(C19 C23)
"C21(C20 C21 ) C20 = _C22(C20 C22 ) czo_=_c323( C20 C23) czo_= "C24(C20 C24) cz1_=_c322( C21 C22 ) C21 = _C23(C21 C23)
C21 = C24(C21 C24)C22 = C23(C22 C23) C22 = C24(C22 C24)

id:18 level: O
27:C0 C1 C2 C3 C4
C5 C7 C8 C10 C11 C12
C13 C14 C15 C16 C17 C18
C19 C20 C21 C22 C23 C24
C25 C27 C28 C29
315: CO = C2(COC2)CO = C3(COC3)CO = C4(COC4)CO = C5(COC5)CO = C7(COC7)
CO = C8(COC8)CO = C10(C0OC10)CO = C11(COC11)TO = C12(CO C12)CO = C13(CO C13)CO = C14(CO C14 )
CO = C15(C0C15)C0 = C16(CO0 C16)CO = C18(CO C18)CO = C19(CO0 C19)CO = C20(CO C20) CO = C21(CO C21)
CO = C22(C0 C22 ) CO = C23(CO C23 ) CO = C24( CO C24 ) co_=_ 25( C0O C25 ) CO = C27(CO C27 ) CO_=_C28( CO C28 )
CO = C29(C0C29)Cl = C2(C1'C2)CT = C3(C1C3)CI = C4(C1C4)Cl = C5(C1C5)C1 = C7(C1C7)
Cl = C8(C1C8)C1 = C10(C1 C10)C1 = C11({C1 C11)C1 _=_c12( C1C12)C1 = C13(C1C13)Cl = C14(C1 Cl4)
C1 = C15(C1C15)CI = C16(C1 C16)CI = C17(C1 C17)C1 = C18(C1 C18 ) C1 = C20(C1 C20)CI = C22(C1 C22)
17= C23(C1C23)C1 = C24(C1C24)C1 = C25(C1C25)C1 = C27(C1 C27)C2 = C3(C2 C3 ) C2 = C4(C2C4h)
C2 = C5(C2C5)C2 = C7(C2C7)C2 = C8(C2C8)C2 = C11(C2C11)C2 = C12(TC2C12)C2 = C13(C2C13)
C2 = C14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C2 = C17(C2C17)C2 = C18(C2 C18)C2Z = C19(C2 C19)
C2 ="C20(C2 C20)C2 = C21(C2 C21)C2 = C22(C2 C22) C2 = C23(C2 C23)C2 = C24(C2 C24 ) C2 = C25(C2 C25)
C2 = C27(C2C27)C2 = C28(C2C28)C2 = C29(C2 C29)C3 = C4(C3C4)C3 = C5(C3C5)C3 = C7(C3C7)
C3 = C8(C3C8)C3 = C11(C3C11)C3 = C12(C3 C12)C3 = CI13(C3 C13)C3 = CT4(C3 C14)C3 = C15(C3 C15)
C3 = C16(C3C16)C3 = C17(C3C17)C3 = C18(C3C18)C3 = C19(C3C19)C3 = C20(C3 C20)C3 = C21(C3 C21)
C3 = C22(C3 C22)C3 = C23(C3 C23)C3 = C24(C3 C24 ) C3 = C25( C3 C25 ) C3 = C27( C3 C27 ) C3 = C28(C3 C28)
C3 = C29(C3C29)C4 = C5(C4C5)C4 = C7(C4C7)Ca = C8(CAC8)C4 = C10(C4C10)C4 = C12(C4C12)
C4 = C13(CAC13)C4 = C14(CAC14)Ca = C15(C4C15)C4A = C16(C4C16)CA = C17(C4C17)Ch = C18(C4 C18)
C4 = C19(C4 C19)C4 = C21(C4 C21)Ca = C22(C4 C22 ) C4 = C23(C4 C23) c4_=_cz4( C4 C24 ) C4 = C25( C4 C25)
C4d = C27(C4C27)C5 = C8(C5C8)C5 = C10(C5C10)C5 = C12(C5C12)C5 = C13(C5C13)C5 = C14(C5 C14 )
C5 = C15(C5C15)C5 = C16(C5C16)C5 = C18(C5 C18) C5 = C19(C5 C19)C5 = C20(C5 C20) C5 = C22( C5 C22)
C5 = C23(C5C23)C5 = C25(C5 C25) C5 = C27(C5 C27) C5 = C28(C5 C28)C5 = C29(C5 C29)C7 = C8(C7 C8)
C7 = C10(C7C10)C7 = C11(C7 C11)C7 = C12(C7 C12)C7 = C13(C7C13)C7 = C14(C7 C14)C7 = C17(C7 C17)
C7 = C18(C7C18)C7 = C19(C7 C19)C7 = C20(C7 C20) C7 = C21(C7 C21 ) C7 = C22(C7 C22 ) C7 = C23(C7 C23)
C7 = C24(C7 C24)C7 = C25(C7 C25)C7 = C27(C7 C27) C7 = C28(C7 C28)C7 = C29(C7 C29)C8 = C10(C8 C10)
C8 = C11(C8C11)C8 = C12(C8C12)C8 = C13(C8 C13)C8 = C14(C8C14)C8 = C15(C8 C15)C8 = C16(C8 C16)
C8 = C17(C8C17)C8 = C18(C8 C18)C8 = C20(C8 C20) C8 = C21(C8 C21 ) C8 = C22(C8 C22 ) C8 = C23( C8 C23)
C8 = C24(C8 C24)C8 = C25(C8 C25)C8 = C28(C8 C28) C8 = C29(C8 C29)C10 = C11(C10C11) C10 = C12(C10C12)
C10 = C13(C10 C13)C10 = C14(C10 C14)C10 = C15(C10 C15) C10 = C16(C10 C16 )CI0 = C17(C10C17)CI0 = C18(C10C18)
C10 = C19(C10 C19)C10 = C20( C10 C20)C10 = C21(C10 C21) C10 = C23(C10 C23 ) C10 = C24(C10 C24 ) C10 = C25(C10 C25)
C10 = C27(C10 C27)C10 = C28(C10 C28)C11 = C12(C11 C12)C11 = C14(C11 C14)C11 = C15(C11 C15)Cl1 = C16(C11 C16)
C11 = C17(C11 C17)Cl1 = C18(C11 C18)C11 = C21(C11 C21)C11 = C22(C11 C22)C11 = C23(C11 C23)C11 = C24(C11 C24 )
C11 = C25(C11 C25)C11 = C28(C11 C28)C11 = C29(C11 C29) C12 = C13(C12 C13)C12 = C14(C12C14)Cl12 = C15(C12 C15)
C12 =C16(C12 C16)C12 = C17(C12 C17)C12 = C18(C12 C18)C12 = C19(C12 C19)C12 = C20(C12 C20)C12 = C21(C12 C21 )
C12 = C22(C12 C22)C12 = C23(C12 C23)C12 = C24(C12 C24 ) C12 = C25(C12 C25) C12 = C27(C12 C27 ) C12 = C28(C12 C28)
C12 =C29(C12 C29)C13 = C14(C13 C14)C13 = C15(C13 C15) C13 = C16(C13 C16)C13 = C17(C13C17)C13 = C18(C13 C18)
C13 = C19(C13 C19)C13 = C20( C13 C20)C13 = C21(C13 C21) C13 = C22(C13 C22)C13 = C23(C13 C23)C13 = C24(C13 C24)
C13 = C25(C13 C25)C13 = C27(C13 C27 ) C13 = C28(C13 C28) C13 = C29( C13 C29)Cl4 = C15(C14 C15)Cl4 = C16(C14 C16)
C14 = C17(C14 C17)Cl4 = C18(C14 C18)C14 = C19(Cl14 C19) C14 = C20(C14 C20)Cl4 = C21(C14 C21)Cla = C22(C14 C22)
C14 = C23(C14 C23)Cld = C24(Cl14 C24 ) C14 = C25(C14 C25)C14 = C27(C14 C27 ) Cl4 = C28(Cl4 C28)C14 = C29(C14 C29)
C15 = C16(C15C16 ) C15 = C17(C15C17 ) C15 = C18(C15 C18) C15 = C19( C15 C19)C15 = C21(C15 C21 ) C15 = C22( C15 C22)
C15 = C23(C15 C23 ) C15 = C24( C15 C24 ) C15 = C25(C15 C25) C15 = C27(C15 C27 ) C15 = C28(C15 C28) C15 = C29( C15 C29)
C16 = C17(C16 C17)C16 = C18(C16 C18)C16 = C19(C16 C19) C16 = C21(C16 C21 ) C16 = C23(C16 C23)C16 = C24(C16 C24)
C16 = C25(C16 C25)C16 = C27(C16 C27 ) C16 = C28(C16 C28) C16 = C29(C16 C29)C17 = C18(C17 C18)C17 = C19(C17 C19)
C17 = C20(C17 C20)C17 = C21(C17 C21)C17 = C22(C17 C22) C17 = C23(C17 C23 ) C17 = C24(C17 C24)C17 = C25(C17 C25)
C17 = C27(C17 C27 ) C17 = C29( C17 C29 ) C18 = C19(C18 C19) C18 = C20( C18 C20 ) C18 = C21(C18 C21 ) C18 = C22(C18 C22)
C18 = C23(C18 C23)C18 = C24(C18 C24 ) C18 = C25(C18 C25) C18 = C27(C18 C27 ) C18 = C28(C18 C28)C19 = C20( C19 C20)
C19 = C21(C19 C21)C19 = C22(C19 C22 ) C19 = C23(C19 C23) C19 = C25(C19 C25)C19 = C27(C19 C27 ) C19 = C28( C19 C28)
C19 = C29(C19 C29 ) C20 = C21( C20 C21 ) C20 = C22( C20 C22 ) C20 = C23( C20 C23 ) C20 = C24( C20 C24 ) C20 = C25( C20 C25)
C20 =_C27( C20 C27 ) C20 = C28( C20 C28 ) C20 = C29( C20 C29 ) C21 = C22( C21 C22 ) C21 = C23( C21 C23 ) C21 = C24( C21 C24 )
C21 = C25(C21 C25)C21 = C28( C21 C28) C21 = C29( C21 C29 ) C22 = C23( C22 C23 ) C22 = C24( C22 C24 ) C22 = C25( C22 C25)
C22 ="C27(C22 C27 ) C22 = C28( C22 C28 ) C22 = C29( C22 C29 ) C23 = C25( C23 C25 ) C23 = C27( C23 C27 ) C23 = C28( C23 C28)
C23 = C29( C23 C29 ) C24 = C25( C24 C25 ) C24 = C27( C24 C27 ) C24 = C28( C24 C28 ) C25 = C27( C25 C27 ) C25 = C28( C25 C28)
C25 = C29( C25 C29 ) C27 = C28( C27 C28 ) C27 = C29( C27 C29 ) C28 = C29( C28 C29 )
24: CO C1 C2 C3 C4
C5 C7 C8 C10 C11 C12
C13 C14 C15 C17 C18 C19
23: CO C1 C2 C4 C5
C7'C10 C11 C13 C14 C15 C22 €23 Cag L25 C27 028
30 G Gas 050 Cos aae 249:CO = C2,C0 = C3,C0 = C4,C0 = C5,C0 = C7,
CO = C8,C0 = C10,C0 = C11,C0 = C12,C0 = C13,C0 = Cl4
223:C0 = C2,C0 = C4,C0 = C5,C0 = C7,C0 = C10, = L0 = (14,
20: CO C1 C3 C4 C5 = CO0 = C15,C0 = C18,C0 = C19,C0 = C22,C0 = C23,C0 = C24
Co = C11,C0 = C13,C0 = C14,C0 = C15,C0 = C16,C0 = C18 = = =G22 00 = 025,00 = L4,
C7 C8 C10 C11 C13 C14 GO —C20 G0 =Ca1 G0 =C22 GO =C23 GO =Coa "GO =Cas CO = C25,C0 = C27,C0 = C28,C0 = C29,C1 = C2.C1 = C3,
C15 C16 C18 C19 C20 C21 = = =29, cil=ca.c1=C5,01=C7,C1 =c8,c1=C10,C1 = CT1
0 = C27,C0 = C28,C0 = C29,C1 = C2,C1 = C4,C1 = C5 =LA Ll = L1 =8, 01 = Cl0, el = Cl,
C22 C23 C24 . . / c1 = Ci2,C1 = C13.C1 = C14,C1 = Cci5,C1 = C17,C1 = C18
cl1=C7,c1 =c10,C1 = C11,C1 = C13,C1 = C14.C1 = C15 = C12,C1 = C13.,Cl =Cl14.C1 =Cl5,Cl = Cl17.Cl1 =C18,
168: CO = C3,C0 = C4,C0 = C5,C0 = C7,C0 = C8, Ol = C16 . CT = C17 CT = C18 . CT = €20 CT = Co CT = Co5 CT = C22,Cc1 = C23,C1 = c24,CT = C25,C1 = C27,C2 = C3,
Co0 = C10,C0 = C11,C0 = C13,C0 = C14,C0 = C15,C0 = C16, Cl= Co4 Cl= C2b Cl = CoT (o = Ch .CT = CacomTr 2= C4,C2 =C5,02 =C7,C2 =C8,02 =CIi1,C2 = CI2,
CO = C18.C0 = C19.C0 = C20.C0 = C21.C0 = C22.CO = C23, T T T o N T W Ll R oS Cc2 = C13,C2 = C14.C2 = C15,C2 = C17,C2 = C18,C2 = C19,
CO =C24.C1 =C3,01 =C4,C1=C5,C1 =C7,C1 =C8, C2 ="C18.C2 = C20.C2 = C21.C2 = C22.C2 = C23.C2 = C24 . C2 ="C22.C2 = C23.C2 = C24 ,C2 = C25.,C2 = C27.,C2 = C28,
cl = Ci0,C1 = CI1,C1 = C13,C1 = C14,C1 = C15,C1 = C16 = = = = = = C2 = C29,C3 = C4,C3 = C5.,C3 = C7,C3 = C8,C3 = CI1
- _ Ll=1C14.C1 =Cls5.Cl = Clo, C2 = C25,C2 = C27,C2 = C28,C2 = C29,C4 = C5.C4 = C7, = 629,03 = (4,03 = 3 = 08,63 = Cll,
C1 = C18,C1 = C20,C1 = c22/,CcT = C23,C1 = C24,C3 = C4, A = 10 CA = Cla A = cla dd = e15 &4 = cle Ca—cs Cc3 = C12,C3 = C13,C3 = C14.C3 = C15,C3 = C17,C3 = C18,
C3 = C5.C3 =C7,C3 = C8,C3 = C11,C3 = C13,C3 = Cl14, Ca—C18 ' Ca—Co1 Ca—Caa ' Ca—Ca3 'Ca=Coa 'Ca = o5 C3 = C19.C3 = C22.C3 = C23.C3 = C24.C3 = C25.C3 = C27,
3 = C15,C3 = C16,C3 = C18,C3 = C19,C3 = C20,C3 = C21 = = = = = = C3 = C28,C3 = C29,C4 = C5,C4 = C7,C4 = C8,C4 = C10
=Ll o = Lle Lo = C18,C3 = €19 ,65 = £20,03 = (21, C4 = C27.C5 = C10.C5 = C13.C5 = C14.C5 = C15.C5 = C16, = - Lt =Le,0a = 10,
C3 = C22,C3 = C23,C3 = C24,C4 = C5,C4 = C7,C4 = C8, G5 —C18 G = G20 o= Can o —Ca3 o= Can 'Co— o’ C4 = C12,C4 = C13,C4 = C14,C4 = C15,C4 = C17 ,C4 = C18,
4 = C10,C4 = C13,C4 = C14,C4 = C15,C4 = C16,C4 = C18, C5 = C28 .C5 = C29 .C7 = C10 .C7 = C11 .C7 = C13.C7 = Cl4 . C4 =C19.C4 = C22.C4 = C23,C4 = C24.C4 = C25.,C4 = C27,
Ci = C19,C4 = C21,C4 = c22/,Cc4 = C23,C4 = C24,C5 = C8, G G179 G =Gl Cr = G20 Cr=Cal ‘=G> G =Ca3 C5 = C8,C5 = C10,C5 = C12,C5 = C13,C5 = C14,C5 = C15,
C5 = C10,C5 = C13,C5 = C14,C5 = C15,C5 = C16,C5 = C18, C7 =1C24 .C7 = C25,C7 = C27.C7 = C28 .C7 = C29,C10 = C11, C5 = C18,C5 = C19,C5 = C22,C5 = C23,C5 = C25,C5 = C27,
C5 = C19,C5 = C20,C5 = €22,C5 = C23,C7 = C8,C7 = C10 = = = o C5 = C28,C5 = C29,C7 = C8,C7 = C10,C7 = C11,C7 = C12
= L19,00 = 020,00 = 022,00 = 023,07 = =19, 10 = C13,C10 = C14,C10 = C15,C10 = C16,C10 = C17,C10 = C18 =428,00 = 029,07 = =Ctl2,
C7 = C11,C7 = C13,C7 = C14,C7 = C18,C7 = C19,C7 = C20 =418, C7 = €13,C7 = C14,C7 = C17,C7 = C18,C7 = C19,C7 = C22
Gt C7 =C14.07 = 18,07 = £20. C107="C20.C10 = C21.C10 = C23.C10 = C24.C10 = C25.C10 = C27 =013,07 = Cl4, :
C7_=_C21,C7 =_C22,C7 =_C23,C7_=_C24,C8 ="C10,C8 =Cl1,  |30—G38 C11 = C14 Cl1 = C15 'C11 = 016 'C11 =C17 'C11 =C18 C7 = C23.C7 = C24.C7 = C25.C7 = C27.C7 = C28.C7 = C29 .
C8 = C13,C8 = C14,C8 = C15,C8 = C16,C8 = C18,C8 = C20,  |37-_-G31 ‘C11 =—C22 ' Cl11 = C23 'C11 =024 'C11 =C28 C11 =C28 C8 = C10.C8 = C11.C8 = C12.C8 = C13.C8 = C14.C8 = C15,
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